
FITTIN
G

S

5

FIT-05
For further information visit store.norgren.com/us or call 1.800.514.0129 For further information visit store.norgren.com/us or call 1.800.514.0129

In stock
Ships within one week

L

ØA ØB ØC
L

L

ØA

ØA

L
D

E

ØF

ØA

C

E

ØSL

ØA

ØB (2x)

ØN

Pneufit Union
Part 
Number

A 
Tube O.D.

L C

120200100 1/8" 1.15  0.35  
120200200 5/32" 1.17  0.39  
120200300 3/16" 1.26  0.43  
120200400 1/4" 1.28  0.47  
120200500 5/16" 1.35  0.55  
120200600 3/8" 1.71  0.67  
120200700 1/2" 1.98  0.81  

* Reducing union with 1/8" and 1/4" connections

Pneufit Parallel Union “Y”*
Part  
Number

A  
Tube 
O.D.

B  
Tube 
O.D.

C ØD E L ØN ØS**

120820200 5/32" 5/32" 0.43  0.30  0.87  1.34  0.43  0.13  
120820400 1/4" 1/4" 0.55  0.43  1.06  1.51  0.51  0.13  
120820500 5/16" 5/16" 0.63  0.51  1.22  1.59  0.59  0.13  

*Body Material: Thermoplastic
** Mounting hole

Pneufit Union Tee
Part 
Number

A 
Tube 
O.D.

C  D 
A/F

E F L

120600100 1/8" 0.26  0.20  0.63  0.32  1.26  
120600200 5/32" 0.30  0.28  0.67  0.40  1.34  
120600300 3/16" 0.38  0.28  0.72  0.44  1.44  
120600400 1/4" 0.42  0.31  0.77  0.48  1.54  
120600500 5/16" 0.50 0.43  0.84  0.56  1.68  
120600600 3/8" 0.59 0.52  1.05  0.67  2.10  
120600700 1/2" 0.71 0.63  1.25  0.81  2.50  

Pneufit Union Elbow
Part 
Number

A  
Tube O.D.

L

120400100 1/8" 0.65  
120400200 5/32" 0.67  
120400300 3/16" 0.72  
120400400 1/4" 0.77  
120400500 5/16" 0.84  
120400600 3/8" 1.05  
120400700 1/2" 1.25  

Dimensions in inches

ØCØAØB

L

Pneufit Tube End Expander/Reducer
Part 
Number

A 
Tube O.D.

B 
Stem O.D.

L C

120230201 1/8" 5/32" 1.22  0.35  
120230401 1/8" 1/4" 1.30  0.35  
120230402 5/32" 1/4" 1.34  0.39  
120230602 5/32" 3/8" 1.22  0.47  
120230403 3/16" 1/4" 1.38  0.43  
120230504 1/4" 5/16" 1.46  0.47  
120230604 1/4" 3/8" 1.50  0.47  
120230704 1/4" 1/2" 1.38  0.55  
120230705 5/16" 1/2" 1.65  0.55  
120230706 3/8" 1/2" 1.97  0.67  
Expanding
120230104 1/4" 1/8" 1.34  0.47  
120230204 1/4" 5/32" 1.38  0.47  

B

ØA

L

D

ØA

E
Pneufit Bulkhead Union

Part 
Number

A 
Tube O.D.

B 
Metric 
Thread

Panel  
Hole ø

E 
A/F

D 
Max

L

120290100 1/8" M10 x 1.0 0.42  0.55  0.47 1.15  
120290200 5/32" M10 x 1.0 0.42  0.55  0.47  1.18  
120290300 3/16" M12 x 1.0 0.49 0.67  0.55  1.26  
120290400 1/4" M14 x 1.5 0.57  0.75  0.59  1.38  
120290500 5/16" M16 x 1.5 0.65  0.87  0.63  1.42  
120290600 3/8" M20 x 1.5 0.81  1.06  0.55  1.69
120290700 1/2" M24 x 1.5 0.96  1.18  0.59  1.97

Pneufit push-in fittings
Inch Ø 1/8" to 1/2" O/D tube 


